Subject: Snipers Vs. Aircraft Balancing
Posted by Anonymous on Sun, 21 Apr 2002 02:22:00 GMT

View Forum Message <> Reply to Message

Does anyone else have a problem with the aircraft being useless against snipers? The speed or
the aircraft is useless against the Infinite velocity sniper rifles. 5 Hits to kill an attack helicopter... 1
Sniper can easily defeat 10 attack helicopters at the same time.

Page 1 of 1 ---- Generated from Command and Conquer: Renegade Official Foruns


http://renegadeforums.com/index.php?t=usrinfo&id=
http://renegadeforums.com/index.php?t=rview&th=3381&goto=-973022#msg_-973022
http://renegadeforums.com/index.php?t=post&reply_to=-973022
http://renegadeforums.com/index.php

